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SCHOOL OF BUSINESS AND ECONOMICS

DEPARTMENT OF COMMERCE

END-SEMESTER EXAMINATION                
  SEMESTER: JANUARY 2012

CODE: ACC 112 M
    


      UNIT: MANAGERIAL ACCOUNTING
Time: 2.5 Hours

Instructions: Answer ALL questions, all questions carry equal marks
Q1.

a. From the following particulars calculate
i. Contribution

ii. P/V Ratio

iii. Break even points in units and in shillings

iv. What will be the selling price per unit if the break-even point is brought down to 25,000 units?

Fixed expenses 



kshs. 150,000
 Variable Cost per unit


 kshs. 10

Selling price per unit



kshs 15














(10 marks)

b. The following data relates to Amazon Ltd which makes and sells tablets.
Production 


100,000 units

Sales 



80,000 units

Selling price per unit

kshs. 15

Direct materials


250,000

Direct labour


300,000

Factory overheads: Fixed
250,000



     Variable
100,000

Selling and distribution expenses


Fixed 


200,000


Variable

100,000

You are required to present income statements using (a) absorption costing and (b) marginal costing. Account briefly for the difference in net profits between two income statements.












(15 marks)
Q2.

Preston Ltd is preparing budgets for the year to 31 December 2012. The company manufactures and sells one product. The selling price is Kshs. 150 per unit, but this will increase to Kshs. 160 as from 1 July 2012.The budgeted sales volumes are:

January to March
 40,000 units

April to June 

50,000 units

July to September 
30,000 units

October to December 45,000 units

Sales for January to March 2013 are expected to be 40,000 units. Each product uses 3 kg of component X, 2 kg of component Y, and 1 kg of component Z, the current unit prices of which are:

Component X Kshs. 9 kg

Component Y Kshs.6 kg

Component Z Kshs.25 kg

X and Y are expected to increase in price by 10% from 1 April 2012. Z will rise by 5% from the same date. Labor costs for the product are Kshs. 30 per unit; this will increase by 5% from 1 October 2012. Variable production overhead will be Kshs. 10 per unit. Fixed production overhead is budgeted at Kshs. 264,000 for the year, and is incurred evenly over each three month period. Stock of finished units is budgeted at 20% of the next three month period’s sales. No stocks of components are held.

Required:

(a) Prepare the following budgets for Preston Ltd for each of the four three-month periods of 2012

(i) Sales budget (in Kshs. and units)





 (2 marks)

(ii) Production budget (in units) 





(6 marks)

(iii) Component usage budget (in kg) 




(3 marks)

(iv) Production cost budget (in Kshs) 




(9 marks)

(b) State the benefits that may arise for a company from the use of a Budgetary Control System











(5 marks)

(Total 25 marks)
Q3.

Locy Ltd is considering the purchase of a new machine. Two alternatives are being considered, Machine X and Machine Y. Each machine will have a working life of five years. The initial cost of X is Kshs. 400,000, with a scrap value of Kshs. 20,000, and the initial cost of Y is Kshs. 450,000 with a scrap value of Kshs. 50,000. The following information is available:

X 





Y

Kshs. ‘000 
Sales
 Costs
 Profit 

Sales 
Costs 
Profit

Year
 1

 900 
700 
200 

950
 770
 180

2 

900 
700 
200

 870 
700 
170

3

 800 
650 
150 

800 
690 
110

4

 800 
650 
150 

750 
620 
130

5 

700 
580 
120 

650 
500 
150

The total costs are inclusive of depreciation. The company’s cost of capital is 10%.

 Discount factors for 10%
 Year 1
 
.909

Year 2
 
.826

Year 3
 
.751

Year 4 

.683

Year 5 

.621

Required:

(a) Evaluate each machine, using the Net Present Value method.

 (12 marks)
(b) Evaluate each machine, using the Payback method.


 (4 marks)
(c) State why the Net Present Value method is preferable to the Payback method.












 (4 marks)
(d) A further method of evaluation is the Internal Rate of Return. State briefly how the Internal Rate of Return is calculated and its significance. (You are NOT required to calculate the Internal Rate of Return.) 







(5 marks)

(Total 25 marks)

Q4.

A colleague of yours (an engineer by profession) has recently returned from a course where she heard the expression “Working Capital” and also the fact that it is an important factor in the efficient management of a manufacturing organization. As a result of this, you have been asked to prepare a presentation on Working Capital.

Required:

 (a) Define Working Capital. 







(2 marks)

 (b) Sketch a diagram which shows the Working Capital movement cycle within a manufacturing company. 









(7 marks)

 (c) For each element of working capital, state:

(i) Why it is important that it is closely controlled;

(ii) Ways in which control can be instituted. 




(16 marks)

(Total 25 marks)
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